Lesson 31! Toto o Matrice s

. Am s an armn?,zmw% of  nuumbers info

| B b B ano( Co/wn S.

, [t 25 , p_[1 ao
i félV&V\ A - 3 -2 0 aV\A B - - 3 |
i -5 -1 T o a -1

?(a\ Find LA (Mulﬁply each wﬁhy oy 2)

, - I e e

QA Q ‘5__3 o | - ;é;) ;éi‘) ;L(o)l e .l

=5 ] 7‘ 7 g¢.5) 2(-1 2§ﬂ) 7 1o -2 14 |

</9> Find A+ B (Aclrd cowresponaﬂ.rl% entries of A amof A. )

1 A*B= I 3 5 I 2 o |+ 3+& 5B+0 }J_[a 5 5
e d-O e D 1] [34—(4) P 3R RIRE & GRS SN Y. S _—

o [‘5 . 7] ["‘2“‘ =50 -1v@ T#EN) 75 T 6

| (c)rﬂol o’iA 3B,

3 a ¢ 10 ] _ [3() 3(2) 3()
af o= [4-& o] 31y 3(8) 30
o -0 ~3 14] | 3(8) 3(&) 3D,

L—-\/_\_/
Qr‘om ( )

e
[é: o 0] fE 1 3} l;—(—s) 4-4.0-3 ] [‘} -3 -SJ
o -2 14| Jo ¢ -3 [o-© -2-C it+-(«;_) o -8 17

Mulbiplying Metrices

A-[t o-a] 6%[};] |

| I | o Lad

Find (o) AR and (&) BA.



1y AB=[1 o —ﬂ[

Ais a MmeJﬂx :3 s a 331 matrix

need 4o match /}\
# P rows in AB I 5 0 columns in AB
, ﬁ i
Note ¢ e say malrices are
———’—""-_—-—- X " "
*of rows - by- ¥ of co llomns

To %@1’ ecach elepment e AB we- mulﬁp/\/
o o op A é\[ & aolumn O‘P 3

AB=[1 0 - 2] 5] [1(—J)+o(5)+(-°2)(z)] [-1+0-4]~[-5]
25

(é) BA:‘ ["3’] D 0 -2] How Many rows mBA? 2

How many columns mBAC 3

3 x1 %3 45"’ rouwd
S—— R T @A ’_ Y
P Sl A Tatch sliiane il Ty ;L column ot'A

= |- 5 = | =] -1(03 - (-&) _[-1 o 2
JBA - [B‘JE e ‘2? s Bl Bl R
— o : AKR a(e) a3 a o -4

3 cow 3 R 1st oluumn
oF B of A

Noﬁc,e. W{' H/t& wﬁ‘y in the 3"‘ row amcf

(et column of SA comes Q«Dm W/—;plymi
H/w 3" row o©F Byw”’l“’% 1:’-'t C'Dlm‘fl o

A-[331 8= [3 5]
(&) AB - [3 AL Al [’;:;‘;i‘:li ;i?“:;.;)} [s .

” e ~1(2) + () -
b = = [0+ 203) e _[®
C ) BA o ,’3 ‘5, L{ Aoy + E3)3) O (@) +(-3)(4) - b




NO+@I A{D) F BA

* ‘*Au%mw%e,ol Uahiaserr

éﬁ Write +ne Wc{},m*u%cto( mmme Qr* 71’/4& S\/S%W

; g Lx + 37 + z =

i EA Rt

i e ; ; —

2 = - } coefhcient eCficient 1

i Ywe@‘uen{-m X A C@o” z v conf{‘aylf

* E%.u#ew. {1 — ZTA e 3 g | 2
-%—V-Eeﬁ,uaﬁ"oné—)-—— —& -3 -3 : l 8 ]

| Egquation 27 4 T = ~/

‘ ey Ax_F3y +Z
;TZIUKS s becoause (D 3 —2][ [" : J [ j(
X 2,)( +\/

%

/;)e Qow Opwa,{’long |

<(> Sw\+'cl’\ rows * Qt & '2 means 5@»117;1/1 rows (anofa?
(2) Mufjﬂply a row /77/ o scalar :

N oy 8 — Ry meuns mwlhp'y row 1 [)\,ﬁQ}

(3) Aalcl B rows !

r21+:23—»2 means ow 1 is added brou) 2.
| Qow ( olozs mm" d/wmcaz ({ow 2 o(oeS d/wmg,z

G}
3 5 O

Ba—3R.= [-2 & J-3[105]=[au]-[5 0 4]-[5 k-
Replace ﬁﬂ with 5 #-g]

EFs

ExS for the matrix [,' : 5]()@*‘%*‘“’? Ra= 3R~ Ry




Ty

2% *'o?,\/

Consider the system g Zxey=z =0
—ax* y-H4z=-5

(cﬁ UriwL@ the au%mwd'cc( medrix v He ﬂyf},LW‘
a ! -1 o

[ AN e e ]
“2 1 -4 (-5

((9) Fov* H}e, maﬁj}& i (G»\),P&" Lrm He ow
pperation Ry +Rz = R,
Ri+ Rz =z 1 -1 }o:{ +-a o —4/5] =0 a —55—5:{
Replace R with [0 a '5/”53

2 1 - o)
e 2,
g & -2 =5

() Write the system of linear equations for
e augmented matrix in (5.

a 1-'1. X =[3&x +y =2 - o
a6 ¥ By [3
g & -5 lLE 2y -5z -5

>&.XA+\/-Z_ ,::0
e
ay-5z =-5




ExTl et M= [9] %] Com wfe. M2-2M, |
T ma-[251053]= [?Z;‘i:%‘{-’% 3B =ls 5]
M=£2[— ] eSS A=A %]
M?—»’Z“-E—%?]—Ea ] [5 c—zvﬁo:( [3 3]

\ em— - e
EX,S Given A o 2 L;] anok 3 s 7] )
g 1

o) O 4 o6

(a) AlD = [ ?zﬁ;%{

o AO ‘
1(2) + o601 4—2(0) LD %OZH>+2(23 ‘Cg)féﬁq)f“ ;eco) '
i o)y +3 (1) +&4(0) o() +3(H)+4(a) 0(3}4-3(‘73 + Y0
;La‘ﬂ-OChH(o) 505+ o F1(2) 5(3)roCTy +1(ed

3 20 2t
% e , | f
st 3'"’: o a7 '
o) BRIl
; 030 50!

203+ 1)+ 3 2 F1(D+30) 'm)’ [ (#Y+ B0
2]

y +4(s 5y 1co>+ um ROy (2 FyY+FT0Y |
m + 4 (o>+D£6) 6(o) +—2c3> + oco) ola) + ;z(qf) +oCi)

\!

0 C 8 ,




